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ATs 265,587 250,041 15,546
Alls AHE ZHI 172,446 155,966 16,480
FOUTXAE A28 & HYAL X2 125,456 108,976 16,480
FOURMXNEEH 29 52,400 52,400 0
201 L2l 12,400 12,400 0
01 At 22l 12,400 12,400 0
OHH=2Y LBt==EH| 3,400,000 3,400
O+ 30,0003 25 x12& 9,000
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(13l) 00,000& *x25H 2,500
OFoUNINEZZNH 29 500
1MIIEELES 37,000 37,000 0
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FOEOAL XA 69,056 36,576 32,480
201 £B-2dH| 30,256 29,776 480
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OFAN A2FITEZ 22/l 130,000& *123] 1,560
O&F=D Xtz 420,000 +3CH 1,260
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232%4| 23,656 23,656 0
OXt& Xl 5,000,000& 5,000
OFAF Wit S AIJIARZ 800,000 «12J0 & 9,600
OZ&EI FAE=HI 88,0002 1201 & 1,056
OFAL HLHEAIAE S22l
600,000 »23| 1,200
(OF=PNE=PNE: =il 5,000,000& 5,000
O&& Il Al 150,000& *123] 1,800
AR =Y 1,800 1,800 0
A F=AH LA 1,800 1,800 0
OXIlEs STYRAIHFA 1,800,000& 1,800
A& HI 2 = T b 37,000 5,000 32,000
A& HI 37,000 5,000 32,000
Os AL =& 2l 5,000,000& 5,000
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OZY A& (LED) JH& S A 10,000, 000& 10,000
2B ASHO0I AEHL0l BAXH 4,000 4,000 0




2N NS
M Alls MY
SR |A_4 HA2Y o BoAL X CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 4,000 4,000 0
04 DI2HHALALSE E X 4,000 4,000 0
O222H &SHE0|l AEHL0l BAXRA
4,000,000& 4,000
sScletEas=2y 46,990 46,990 0
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-Jles 1,212,120 x 122 14,546
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-2 82,630 x2 128 1,984
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01 At 22l 13,000 12,000 1,000
ORA2G A2 22| 12,000,000& 12,000
O15 o odgdie 40 20l
1,000,000 1,000
02 8323l 17,500 17,000 500
O&II3 12,000, 000& 12,000
OHdt=ER3 2,000,000& 2,000
ORERS 3,500,000& 3,500
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